INFOD3I=BD (1)

0.6 — 0.5=0."

1.2—0.5=0.7

7.7 —02=7.5

4 — 0.6= 34

0.9—0.2=0.7

2 —0.5=1.5

28— 0.2=256

5 Z5
BRER

® 5.9—0.4=55
©® 0.4—0.1=0.3
M 5 —0.1=4.9
® 0.9—0.8=0.1
® 1.1—0.3=0.8
W 2.2—0.6=16
® 2.1—0.3=1.8
® 2.8— 0.8= 2

P c wiso kg 8




INFD3|=BD (12)

1.6 —0.4=1.2

1.1— 0.6=0.5

8.8 — 0.1=8.7

42— 0.6= 3.6

0.8 — 0.5=0.3

1.6 —0.6= 1

3.8—0.6=23.2

3 —0.8=22

5 Z5
BFFER

® 7.1 —0.5=6.6
® 0.5—0.2=0.3
® 4.9—0.2=4.7
@ 0.4—0.1=0.3
® 0.9—0.7=0.2
@ 3.3—0.7=26
® 2.3—0.2=2.1
® 3 — 0.5=2.5

P c wiso kg 8




INFID3|=BD  (13)

26— 0.7=1.9

2.6 — 0.3=12.3

9.9 —-0.2=9.7

4.4 — 0.7= 3.7

0.7 — 0.4=10.3

1.2—0.4=0.8

4 — 0.5=3.5

3.2—0.5=2.7

5 Z5
FER

® 1.3—0.6=0.7
® 0.6 —0.2=0.4
® 4.8—0.3=45
@ 0.2—0.1=0.7
® 1.7—0.3=1.4

4.4—0.6= 3.8

2.5—09=156

3.2—0.7=2.5

P c wiso kg 8




INFID3|I=BD (14)

3.6 — 0.8=2.38

4.1 — 0.8= 3.3

3.3—0.2= 3.1

4.6 — 0.8= 3.8

0.6 — 0.3=0.3

4.8 —0.3=4.5

42— 0.4= 3.8

3.4—0.7=2.7

5 Z5
FER

® 2.5—0.7=1.8
® 0.7—0.2=0.5
@ 4.7 — 0.4= 4.3
® 0.3—0.2=0.
® 1.9—07=1.2
@ 5.5—0.4=5.1
® 2.7—0.8=1.9
® 3.4— 0.3= 3.

P c wiso kg 8




INEID3|=BD  (15)

4.6 —0.9=3.7

5.6 — 0.9= 4.7

4.4 —0.1=423

4.8— 0.9= 3.9

0.5— 0.2=20.3

4.4 — 0.5= 3.9

4.4 — 0.3= 4.1

3.6 — 0.3= 3.3

5 Z5
FER

® 1.3—0.8=0.5
® 0.8—0.2=0.56
® 4.6—0.5=4.1
@ 0.4—0.1=0.3
® 1.7—05=1.2
@ 6.6—0.5=06.1
® 2.9—0.7=2.2

1.8—0.2=1.6

P c wiso kg 8




IO |=ED  (16)

7.1 —0.6=6.5

55— 0.3=5.2

0.4— 0.3=0.1

4 —0.6=3.4

46— 0.2= 4.4

1.8—0.2=1.6

75\“’_) ( C 75

AN

2.5—0.9= 1.6

0.9—0.2=0.7

45— 0.6= 3.9

1.5—0.3=1.2

7.7—0.3=7.4

2 —0.1=1.9

P o g 5kYL 4




INEDI|IZED

47— 0.2=4.5

26— 0.4=2.2

6.6 — 0.3=6.3

52— 0.2=

5

0.3— 0.2=0.1

3.6 —0.4=23.2

4.8 — 0.1

2 — 0.1

4.7

1.9

5 Z5
FER

® 3.7—0.1=3.6
©® 0.9—0.2=0.7
® 4.4—0.6= 3.8
® 0.6—0.2=0.4
® 1.8—06=1.2
@ 8.8—0.2=8.6
® 3.3—0.5=2.8
® 2.2—0.2= 2

P c wiso kg 8




INEDs|ITED (18)

HD (C5B

AN

®57—03=54 @ 49—-0.2=4./

@ 6.1 — 0.5=506 0.2—0.1= 0.1

® /7./—04=/73 ® 43—0./=3.06

@ 54—03=51 @ 0./—0.2=0.5

® 22—03=19 ® 1.6—0.5=1.1

©® 3.2 —0.3=29 9.9—-0.1=9.8

@ 5 —09=41 ® 3.5—0.4= 3.1

® 2.2—0.2= 2 2.4—04= 2

P c wiso kg 8




INEDs|IETEDO (19)

6./ — 0.3=06.4

/.6 — 0.6= 7/

3.8 —0.5=28.3

5.6 — 0.4=572

2.1 —04=1.7

2.8 —05=2.3

5.2—0.8= 4.4

2.4— 0.9= 1.5

A <5
BEZ
©® 6.1 —=—0.3=5.8
0.3 —0.2= 0.1
@ 4.2—0.8=23.4
@ 0.8— 0.2= 0.6
® 1.4—0.4= 1
93—0.3= 9
® 3./—0.3=23.4
2.6— 0.0= 2

R
vt TkYn !




INGD5IZTE  (20)

HD (C5B

AN

©/7./—05=/72 © 23—-—03= 2

@ 3.1—0.7/7= 2.4 0.3 —0.2= 0.1

®» 99—-05=94 ® 4.1—09=3.2

@ 58— 05=53 @ 09—0.2=0.7

® 29—-05=24 ® 1.2—0.3=0.9

©® 2.4—0.6=1.38 3.4—0.4= 3

@ 54—0./7=4.7 ® 3.9—0.2=3./

8.6 — 0.b= & 2.8—0.3=25

R
vt TkYn !




